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INTERMEDIATE EXAMINATION – 2024 (ANNUAL) 
(Model Set) 

CHEMISTRY (ELECTIVE) 
jlk;u 'kkL= ¼,sfPNd½ 

I.Sc. (TH) 

Total no. of Questions : 70+20+6 = 96  Total no. of Printed Pages: 
 

Instructions for the Candidates : 
 

1- ijh{kkFkhZ OMR mÙkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ vo’; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

 

3- nkfguh vksj gkf’k, ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

 

4- iz’uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 minutes of extra time have been allotted for the candidates to 

read the questions carefully. 

Time : 3 Hours 15 minutes Full Marks - 70 

fo"k; dksM &118  
Sub. Code - 118 
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5- ;g iz’u iqfLrdk nks [k.Mksa esa gS & ,oa A 

This question booklet is divided into two sections – Section-A and 

Section-B. 

6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk, x;s OMR mÙkj&i=d esa fn, x, lgh fodYi dks uhys@dkys ckWy isu 

ls izxk<+ djsaA fdlh Hkh izdkj ds âkbVuj @ rjy inkFkZ @ CysM @ uk[kwu 

vkfn dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke 

vekU; gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. For answering these darken the circle with blue / 

black ball pen against the correct option on OMR Answer Sheet 

provided to you. Do not use Whitener / liquid / blade / nail etc. on 

OMR Answer sheet, otherwise the result will be treated invalid. 

 

7- [k.M&c esa 20 y?kq mÙkjh; iz’u gSaA izR;sd ds fy, 2 vad fu/kkZfjr gS] ftuesa 

ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 6 

nh?kZ mÙkjh; iz’u fn;s x;s gSa] izR;sd ds fy, 5 vad fu/kkZfjr gS] ftuesa ls 

fdUgha 3 iz’uksa dk mÙkj nsuk vfuok;Z gSA 

In Section-B, there are 20 short answer type questions each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 long answer type 
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questions, each carrying 5 marks, out of which any 3 questions are 

to be answered. 

 

8- fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
[k.M & v @ Section - A 

oLrqfu"B iz’u @ Objective Type Questions 
 
iz’u la[;k 1 ls 70 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls ,d 

lgh gSA vius }kjk pqus x, lgh fodYi dks OMR 'khV ij fpfUgr djsaA fdUgha 35 iz’uksa 

dk mÙkj nsaA          35x1=35 

Question nos. 1 to 70 have four options, out of which only one is correct. 

You have to mark your selected option on the OMR sheet. Answer any 35 

questions.          35x1=35 

 
1- NaCl ds jok esa ,d Na+ fdrus Cl- vk;uksa ls f?kjk jgrk gS \ 

(A) 3      (B) 8 

(C) 4      (D) 6 

In NaCl crystal, one Na+ is surrounded by how many Chlorine ions ? 

(A) 3      (B) 8 

(C) 4      (D) 6 

2- ,d fn;klykbZ dh T;kfefr gksrh gS & 

 (A) ?kukdkj     (B) eksuksfDyfud 

 (C) vkFkksZjkWfEcd    (D) VsVªkxksuy 
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 The geometry of match box is 

 (A) Cubic     (B) Monoclinic 

 (C) Orthorhombic   (D) Tetragonal 

3- N xksyksa okys lhfer iSfdax esa v"VQyd fjfDr;ksa dh la[;k gksrh gS & 

 (A) 
ே

ଶ
      (B) 2N 

 (C) N      (D) 4N 

 The number of octahedral voids in close packing of N sphere is 

 (A) 
ே

ଶ
      (B) 2N 

 (C) N      (D) 4N 

4- fuEufyf[kr esa fdl izdkj ds nks"k esa jok ds ?kuRo esa deh vkrh gS \ 

 (A) Ýsadsy     (B) Ldk¡V~dh 

 (C) e/;     (D) F&dsUnz 

Which of the following types of defects causes a decrease in density 

of a crystal ? 

 (A) Frenkel     (B) Schottky 

 (C) Interstitial    (D) F-centre 

5- fuEufyf[kr esa dkSu vkn’kZ foy;u cukrk gS \ 

 (A) C2H5OH ,oa ty   (B) HNO3 ,oa ty 

 (C) CHCl3 ,oa CH3COCH3  (D) C6H6 ,oa C6H5CH3 
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 Which of the following forms an ideal solution ? 

 (A) C2H5OH and water   (B) HNO3 and water 

 (C) CHCl3 and CH3COCH3  (D) C6H6 and C6H5CH3 

6- 0-1 M H3PO4 foy;u dh lkekU;rk D;k gS \ 

 (A) 0.5 N     (B) 0.1 N 

 (C) 0.2 N     (D) 0.3 N 

 The normality of 0.1 M H3PO4 solution is 

 (A) 0.5 N     (B) 0.1 N 

 (C) 0.2 N     (D) 0.3 N 

7- fdlh ruq ?kksy d v.kqla[; xq.k /keZ fuHkZj djrk gS & 

 (A) ?kqY; dh izdf̀r ij   (B) ?kksyd dh izd`fr ij 

 (C) ?kqY; ds v.kqvksa dh la[;k ij  (D) ?kksyd ds v.kqvksa dh la[;k ij 

 The colligative properties of dilute solution depends upon  

 (A) the nature of the solute   

(B) the nature of the solvent 

 (C) the number of particles of solute 

(D) the number of particles of solvent 

8- 250C ij fuEufyf[kr esa fdldk ijklj.kh nkc lcls vf/kd gksxk \ 

 (A) CaCl2     (B) KCl 

 (C) Xywdkst     (D) ;wfj;k 
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 At 250C, the osmotic pressure of which of the following would be 

maximum ? 

 (A) CaCl2     (B) KCl 

 (C) glucose     (D) Urea 

9- ,d QSjkMs dh fo|qr /kkjk dks fdl vEy ds ruq ?kksy ls izokfgr djus ij S.T.P. 

ij gkbMªkstu xSl dk vk;ru eqDr gksrk gS & 

 (A) 22400 ml    (B) 1120 ml 

 (C) 2240 ml    (D) 11200 ml 

 On passing one faraday of electricity through a dilute solution of an 

acid, the volume of hydrogen obtained at S.T.P. is 

 (A) 22400 ml    (B) 1120 ml 

 (C) 2240 ml    (D) 11200 ml 

10- ruqrk c<+kus ij fdl fo|qr vi?kVh; ?kksy dk eksyj pkydRo & 

 (A) c<+rk gS     (B) ?kVrk gS 

 (C) fLFkj jgrk gS    (D) buesa ls dksbZ ugha  

 On increasing dilution, the molar conductance of an electrolytic 

solution 

 (A) increases    (B) decreases 

 (C) remains constant   (D) None of these 
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11- ,d bysDVªksM dk ekud vkWDlhdj.k foHko $0-763 V gSA bldk ekud vodj.k 

foHko gS & 

 (A) 2 x 0.763 V    (B) 
଴.଻଺ଷ

ଶ
 V 

 (C) – 0.763 V    (D) buesa dksbZ ugha 

 The standard oxidation potential of an electrode is +0.763 V. Its 

standard reduction potential is 

 (A) 2 x 0.763 V    (B) 
଴.଻଺ଷ

ଶ
 V 

 (C) – 0.763 V    (D) None of these 

12- ஶ NaCl cjkcj gksrk gS  

 (A) Na+     (B) 𝐶𝑙- 

(C) Na+ + Cl-    (D) 
୒ୟశ

େ୪ష
 

 ஶ NaCl is equal to 

 (A) Na+     (B) 𝐶𝑙- 

(C) Na+ + Cl-    (D) 
୒ୟశ

େ୪ష
 

13- fuEufyf[kr esa dkSu f}rh;d lsy gS \ 

 (A) ysoykap lsy    (B) ysM LVksjst cSVjh 

 (C) lkanz.k lsy    (D) buesa ls lHkh 

 Which of the following is a secondary cell ? 

 (A) Le clanche cell   (B) Lead storage battery 
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 (C) Concentration cell   (D) All of these 

14- fdlh vfHkfØ;k dk osx fLFkjkad fuHkZj djrk gS & 

 (A) rki ij     (B) ek=k ij 

 (C) Hkkj ij     (D) le; ij 

 The rate constant of a reaction depends upon 

 (A) temperature    (B) mass 

 (C) weight     (D) time 

15- izFke dksfV dh vfHkfØ;k ds osx fLFkjkad dh bdkbZ gksrh gS & 

 (A) eksy yh0&1    (B) le;&1 

 (C) yh0 eksy ls0&1    (D) eksy&1 yh0&1 ls0+&1 

 The unit of rate constant of a first order reaction is - 

 (A) mol.litre-1    (B) time-1 

 (C) L mol sec-1    (D) mol-1 L-1 sec-1 

16- vxj vfHkdkjd ds vkjafHkd lkanz.k dks nqxq.kk dj fn;k tkrk gS] rks vfHkfØ;k dk 

v)Z vk;q Hkh nqxquk gks tkrk gS] vfHkfØ;k dh dksfV gS & 

 (A) 'kwU;     (B) izFke 

 (C) f}rh;     (D) rr̀h; 

 If the initial concentration of the reactant is doubled, time for half 

reaction is also doubled, the order of reaction is 

 (A) zero     (B) first 
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 (C) second     (D) third 

17- izFke dksfV dh vfHkfØ;k ds fy, fuEufyf[kr esa dkSu lgh gS \ 

 (A) t
ଵ

ଶ
 𝛼 a     (B) t

ଵ

ଶ
 𝛼 

ଵ

௔
 

 (C) t
ଵ

ଶ
 𝛼 ao     (D) t

ଵ

ଶ
 𝛼 a2 

   Which of the following is correct for a reaction of first order ? 

 (A) t
ଵ

ଶ
 𝛼 a     (B) t

ଵ

ଶ
 𝛼 

ଵ

௔
 

 (C) t
ଵ

ଶ
 𝛼 ao     (D) t

ଵ

ଶ
 𝛼 a2 

18- vf/k’kks"k.k og ?kVuk gS ftlesa dksbZ inkFkZ 

 (A) nwljs inkFkZ dh lrg ij tek gks tkrk gSA 

 (B) nwljs inkFkZ ds fi.M ds vUnj izos’k djrs gSaA 

 (C) nwljs inkFkZ ds utnhd jgrs gSaA   

 (D) nwljs inkFkZ dks vkWDlhdr̀ ;k vod`r djrs gSaA 

 Adsorption is the phenomenon in which a substance 

 (A) accumulates at the surface of the other substance 

 (B) goes into the body of the other substance 

 (C) remains close to the other substance 

 (D) oxidizes or reduces the other substance 

19- mRizsjd og inkFkZ gS tks 

 (A) izfrQy ds lkE; lkanz.k dks c<+krk gS 
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(B) vfHkfØ;k ds lkE; fLFkjkad dks cny nsrk gS 

 (C) lkE;koLFkk izkIr djus ds le; dks ?kVk nsrk gS 

 (D) vfHkfØ;k dks ÅtkZ iznku djrk gSA 

 A catalyst is a substance which 

 (A) increases the equilibrium concentration of the product 

 (B) changes the equilibrium constant of the reaction 

 (C) shortens the time to reach equilibrium 

 (D) supplies energy to the reaction 

20- yk;ksQksfcd dksykWbM dk LFkkf;Ro dk dkj.k gksrk gS & 

 (A) d.kksa dk ty;ksftr gksuk  (B) d.kksa dk vkosf’kr gksuk 

 (C) d.kksa ds cM+s vkdkj dk gksuk  (D) d.kksa ds NksVs vkdkj dk gksuk 

The stability of Lyophobic colloids is due to 

(A) Hydration of particles  (B) Charge on particles  

(C) Big size of particles   (D) Small size of particles 

21- xksYM la[;k tqM+k gksrk gS & 

 (A) yk;ksfQfyd dksykWbZM ls  (B) yk;ksQksfcd dkssykWbM ls 

 (C) ik;l ls     (D) tsy ls 

 Gold number is associated with 

 (A) Lyophilic colloid   (B) Lyophobic colloid 

 (C) Emulsions    (D) Gels 

22- lYQkbM v;Ldksa dks izk;% lkfUnzr fd;k tkrk gS & 
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 (A) Qsu mRiykou fof/k ls   (B) tkj.k ls 

 (C) xq#Ro i`FkDdj.k fof/k ls  (D) dkcZu }kjk vodj.k ls 

 Sulphide ores are generally concentrated by 

 (A) Froth floatation process  (B) roasting 

 (C) Gravity separation process (D) reduction with carbon 

23- fuEufyf[kr esa fdl /kkrq dk fu"d"kZ.k tfVy fuekZ.k fof/k }kjk gksrk gS \ 

 (A) Zn     (B) Ag 

 (C) Hg     (D) Cu 

 Which of the following metals is extracted by complex formation 

method ? 

 (A) Zn     (B) Ag 

 (C) Hg     (D) Cu 

24- iz{ks= 'kks/ku fof/k dk mi;ksx fd;k tkrk gS & 

 (A) mPp rkiØe dss fy,    

(B) vR;Ur gh fo’kq) /kkrq izkIr djus ds fy, 

 (C) fo’kq) vkWDlkbM izkIr djus ds fy, 

 (D) vR;Ur fo’kq) Al izkIr djus ds fy, 

 Zone refining method is used to obtain 

 (A) very high temperature  (B) ultra pure metals 

 (C) ultra pure oxides   (D) ultra pure Al 
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25- yksgs ds fu"d"kZ.k esa tks /kkrqey izkIr gksrk gS] og gS &  

 (A) CO     (B) FeSiO3 

 (C) MgSiO3     (D) CaSiO3 

 During the extraction of iron, slag produced is  

 (A) CO     (B) FeSiO3 

 (C) MgSiO3     (D) CaSiO3 

26- ukbVªkstu dk fuEufyf[kr esa dkSu lk vkWDlkbM vuqpqqEcdh; gksrk gS \ 

 (A) N2O     (B) NO2 

 (C) N2O5     (D) N2O3 

 Which of the following oxides of nitrogen is paramagnetic ? 

 (A) N2O     (B) NO2 

 (C) N2O5     (D) N2O3 

27- QkWLQksjl dh vkWDlhdj.k voLFkk,a gksrh gSa & 

 (A) &3 ls $5    (B) &3 ls 0 

 (C) 0 ls $5     (D) &4 ls $2 

 The oxidation states of phosphorus is 

 (A) -3 to +5     (B) -3 to 0 

 (C) 0 to +5     (D) -4 to +2 

28- fuEufyf[kr esa dkSu vkWDlkbM lcls vf/kd vEyh; gS \ 

 (A) P2O5     (B) N2O5 
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 (C) Sb2O5     (D) As2O5 

 Which of the following oxides is the most acidic ? 

 (A) P2O5     (B) N2O5 

 (C) Sb2O5     (D) As2O5 

29- QkfeZd vEy lkUnz ls vfHkfØ;k dj cukrk gS & 

 (A) CO     (B) CO2 

 (C) SO2     (D) SO3 

 Formic acid reacts with conc. H2SO4 to form 

 (A) CO     (B) CO2 

 (C) SO2     (D) SO3 

30- lYQj ds v.kq gksrs gSa  

 (A) f}ijekf.od    (B) pkjvkf.od 

 (C) f=vkf.od    (D) v"Vvkf.od  

 Sulphur molecule is 

 (A) diatomic    (B) tetraatomic 

 (C) triatomic    (D) octaatomic 

31- Cu (z=29) dk bysDVkWfud foU;kl gksrk gS & 

 (A) [Ar] 3d9 4s2    (B) [Ar] 3d10 4s1 

 (C) [Ar] 3d8 4s2 4p1   (D) [Ar] 3d10 4s2 

 The electronic configuration of Cu(z=29) is 
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 (A) [Ar] 3d9 4s2    (B) [Ar] 3d10 4s1 

 (C) [Ar] 3d8 4s2 4p1   (D) [Ar] 3d10 4s2 

32- ySaFksukbM rRoksa ds lkekU; bysDVkWfud foU;kl gksrs gSa & 

 (A) (n-2)f1-14 (n-1)s2p6d0,1ns2  (B) (n-2)f0-14(n-1)d0, 1 ns2 

 (C) (n-2)f0-14 (n-1)d10 ns2  (D) (n-2)d0,1(n-1)f0-14  ns1 

 The general electronic configuration of lanthanide elements is  

 (A) (n-2)f1-14 (n-1)s2p6d0,1ns2  (B) (n-2)f0-14(n-1)d0, 1 ns2 

 (C) (n-2)f0-14 (n-1)d10 ns2  (D) (n-2)d0,1(n-1)f0-14  ns1 

33- fuEufyf[kr esa dkSu ,sfoVukbM ugha gS \ 

 (A) D;wfj;e     (B) dSfyQksfuZ;e 

 (C) ;wjsfu;e     (D) VfoZ;e 

 Which of the following is not an actinide ? 

 (A) Curium     (B) Californium 

 (C) Uranium    (D) Terbium 

34- fuEufyf[kr esa dkSu izfrpqacdh; gS \ 

 (A) Cr3+     (B) V2+ 

 (C) Sc3+     (D) Ti3+ 

 Which of the following is diamagnetic ? 

 (A) Cr3+     (B) V2+ 

 (C) Sc3+     (D) Ti3+ 

35- Fe2+ (z=26) esa v;qfXer bysDVksuksa dh la[;k gS & 
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 (A) 4      (B) 5 

 (C) 6      (D) 3 

 The number of unpaired electrons in Fe2+ (z=26) is  

 (A) 4      (B) 5 

 (C) 6      (D) 3 

36- K3[Fe(CN)6] esa Fe dh vkWDlhdj.k la[;k gS & 

 (A) 6      (B) 4 

 (C) 3      (D) 2 

 The oxidation number of Fe in K3[Fe(CN)6] is  

 (A) 6      (B) 4 

 (C) 3      (D) 2 

37- lHkh fyaxs.M gSa & 

 (A) ysfol vEy    (B) ysfol HkLe 

 (C) mnklhu     (D) buesas ls dksbZ ugha 

 All ligands are 

 (A) Lewis acids    (B) Lewis bases 

 (C) Neutral     (D) None of these 

38- tfVy vk;u [Ni(CN)4]
2- dh lajpuk gS & 

 (A) ,d jSf[kd    (B) prq"Qydh; 
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 (C) oxZ ryh;    (D) v"VQydh; 

 The structure of [Ni(CN)4]
2- is  

 (A) Linear     (B) Tetrahedral 

 (C) Square planar   (D) Octahedral 

39- foVkfeu B-12 esa jgrk gS & 

(A) dksckYV     (B) eSXusf’k;e 

(C) yksgk     (D) fudsy 

 Vitamin B-12 contains 

(A) Cobalt     (B) Magnesium 

(C) Iron     (D) Nickel 

40- fuEufyf[kr esa fdldk 'kwU; f}/kqozh; vk?kq.kZ gS \ 

 (A) CH3Cl     (B) CHCl3 

 (C) CHI3     (D) CCl4 

 Which of the following has zero dipole moment ? 

 (A) CH3Cl     (B) CHCl3 

 (C) CHI3     (D) CCl4 

41- fuEufyf[kr esa dkSu tse MkbzgsykbM gS \ 

 (A) CH3CHBr2    (B) CH2Br-CH2Br 

 (C) CH-
3CHBrCH2Br   (D) CH3CHBrCH2CH2Br 

 Which of the following is a gemdihalide ?  
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 (A) CH3CHBr2    (B) CH2Br-CH2Br 

 (C) CH-
3CHBrCH2Br   (D) CH3CHBrCH2CH2Br 

42- fuEufyf[kr esa fdlls DyksjksQkeZ curk gS \ 

 (A) esFksukWy     (B) esFksuy 

 (C) izksisu&1&vkWy    (D) izksisu&2&vkWy 

 From which of the following, chloroform is formed ? 

 (A) Methanol    (B) Methanal 

 (C) Propan-1-ol    (D) propan-2-ol 

43- ,fYdy gsykbM dk mi;ksx fuEufyf[kr esa fdls cukus esa gksrk gS \ 

 (A) ,sYdsu     (B) ,sYdhu 

 (C) ,sYdksgkWy     (D) buesa ls lHkh 

 Alkyl halides are used for the preparation of which of the following ? 

 (A) Alkane     (B) Alkene 

 (C) Alcohol     (D) all of these 

44- fuEufyf[kr esa dkSu lsds.Mjh ,sYdksgkWy dks fu:fir djrk gS \ 

 (A) –CH2OH    (B)     CHOH 

 (C)     C - OH    (D)     C – C 

        OH  OH 

 Which of the following represents secondary alcohol ? 
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 (A) –CH2OH    (B)     CHOH 

 (C)     C - OH    (D)     C – C 

        OH  OH 

45- vukt ,sYdksgkWy fuEufyf[kr esa fdldk lkekU; uke gS \ 

 (A) ,ekbZy ,sYdksgkWy   (B) ,fFky ,sYdksgkWy 

 (C) esFksukWy     (D) buesa ls dksbZ ugha 

 Grain alcohol is the common name of which of the following ? 

 (A) Amyl alcohol    (B) Ethyl alcohol 

 (C) Methanol    (D) None of these 

46- fxzXukMZ vfHkdeZd ls vfHkfØ;k dj fuEufyf[kr esa dkSu ,sYdsu cuk ldrk gS \  

 (A) CH3CH2OH    (B) CH3CHO 

 (C) CH3COCH3    (D) HCHO 

Which of the following forms alkane on reaction with Grignard 

reagent? 

 (A) CH3CH2OH    (B) CH3CHO 

 (C) CH3COCH3    (D) HCHO 

47- vfHkfØ;k 

 RCOCl + H2 
௉ௗ/஻௔ௌைర
ሱ⎯⎯⎯⎯⎯⎯ሮ RCHO + HCl dks dgrs gSa & 

 (A) dSfutkjks vfHkfØ;k    (B) jkstsueqaM vfHkfØ;k 

 (C) gSyksQkeZ vfHkfØ;k   (D) DysesUlu vfHkfØ;k 
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 The reaction 

 RCOCl + H2 
௉ௗ/஻௔ௌைర
ሱ⎯⎯⎯⎯⎯⎯ሮ RCHO + HCl is called 

 (A) Cannizzaro’s reaction  (B) Rosenmund’s reaction 

 (C) Haloform reaction   (D) Clemmensen’s reaction 

48- ,sfYMgkbM ds vkWDlhdj.k ls izkIr gksrk gS & 

 (A) ,d ,sYdksgkWy    (B) ,d ,slhVksu 

 (C) ,d bZFkj     (D) ,d vEy 

 An aldehyde on oxidation gives 

 (A) an alcohol    (B) an acetone 

 (C) an ether    (D) an acid 

49- fuEufyf[kr esa dkSu dSfutkjks vfHkfØ;k ugha nsrk gS \ 

 (A) VªkbZesfFky ,slhVfYMgkbM  (B) ,slhVfYMgkbM 

 (C) csatfYMgkbM    (D) QkeZfYMgkbZM 

 Which of the following doesn’t give cannizzaro’s reaction ? 

 (A) Trimethyl acetaldehyde  (B) Acetaldehyde 

 (C) Bengaldehyde   (D) Formaldehyde 

50- ;wjksVªksihu fuEufyf[kr esa ls fdldh vfHkfØ;k veksfu;k ls djkus ij curk gS \ 

 (A) ,slhVfYMgkbM    (B) QkeZfYMgkbZM 

 (C) ,slhVksu     (D) fQukWy 
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Urotropine is formed by the reaction of ammonia with which of the 

following ? 

 (A) Acetaldehyde    (B) Formaldehyde 

 (C) Acetone    (D) Phenol 

51- fuEufyf[kr esa dkSu lk lw= bZLVj dks O;Dr djrk gS \ 

 (A) RCOOH    (B) RCOOR  

 (C) RCOR     (D) ROR  

 Which of the following formula represents an ester ? 

 (A) RCOOH    (B) RCOOR  

 (C) RCOR     (D) ROR  

52- QkfeZd vEy ,oa QkeZfYMgkbZM dks fuEufyf[kr esa fdlds }kjk foHksn fd;k tk 

ldrk gS \ 

 (A) csafMDV ?kksy    (B) VkWysu dk vfHkdeZd 

 (C) Qsgfyax ?kksy    (D) NaHCO3 

 Formic acid and Formaldehyde can be distinguished by which of the 

following ? 

 (A) Benedict’s solution   (B) Tollen’s reagent 

 (C) Fehling’s solution   (D) NaHCO3 

53- fuEufyf[kr esa dkSu lcls lcy vEy gS \  
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 (A) CH3COOH    (B) ClCH2COOH 

 (C) Cl2CHCOOH     (D) Cl3C.COOH 

 Which of the following is the strongest acid ? 

(A) CH3COOH    (B) ClCH2COOH 

 (C) Cl2CHCOOH     (D) Cl3C.COOH 

54- fuEufyf[kr esa dkSu lcy vodkjd gS \ 

 (A) ,FksuksbZd vEy    (B) csatksbd vEy 

 (C) esFksuksbZd vEy    (D) Dyksjks,slhfVd vEy 

 Which of the following is a strong reducing agent ? 

 (A) Ethanoic acid    (B) Benzoic acid 

 (C) Methanoic acid   (D) Chloroacetic acid 

55- fuEufyf[kr esa fdlds }kjk dkcksZfDlfyd vEyksa dks lh/ks izkbejh ,sYdksgkWy esa 

vod`r fd;k tk ldrk gS \  

 (A) LiAlH4     (B) Na+C2H5OH 

 (C) NaBH4     (D) H2 

By which of the following carboxylic acids can be directly recuced into 

alcohol ? 

 (A) LiAlH4     (B) Na+C2H5OH 

 (C) NaBH4     (D) H2 
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56- fuEufyf[kr esa dkSu lsds.Mjh ,sehu gS \ 

 (A) R - NH2     (B) R – N – R 

           R 

 (C) R4NX     (D) R – NH - R 

 Which of the following is a secondary amine ? 

 (A) R - NH2     (B) R – N – R 

           R 

 (C) R4NX     (D) R – NH - R 

57- esfFky vkblkslk;usV dk v.kq lq= gS & 

(A) CH3NCO    (B) CH3CNO 

(C) CH3NCS    (D) CH3CN 

The molecular formula of methylisocyanate is 

(A) CH3NCO    (B) CH3CNO 

(C) CH3NCS    (D) CH3CN 

58- fuEufyf[kr esa fdlds tyka’ku ls izkbZejh ,sehu curk gS \ 

 (A) ukbVªksiSjkfQu    (B) ,sfYdy lk;ukbZM 

 (C) ,sekbM     (D) ,sfYdy vkblkslk;ukbM 

 Which of the following gives primary amine on hydrolysis ? 

 (A) Nitroparaffin    (B) Alkylcyanide 

 (C) Amide     (D) Alkyl isocyanide 

+  - 

+  - 
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59- ,sehu esas ukbVªkstu ijek.kq dk izladj.k gS & 

 (A) sp     (B) sp2 

 (C) sp3     (D) dsp2 

 The hybridization of nitrogen in amines is  

 (A) sp     (B) sp2 

 (C) sp3     (D) dsp2 

60- lqØksl ds tkyka’ku ls izkIr gksrk gS & 

 (A) flQZ Xywdks’k    (B) Xywdks’k ,oa XySDVksl 

 (C) Xywdks’k ,oa ÝDVksl   (D) Xywdks’k ,oa ySDVksl 

 Sucrose on hydrolysis gives 

 (A) Only glucose    (B) Glucose and Glactose 

 (C) Glucose and Fructose  (D) Glucose and Lactose 

61- ,LdkSfZcZd vEy gS & 

 (A) ,d foVkfeu    (B) ,d batkbe 

 (C) ,d izksVhu    (D) ,d ,sehuks vEy 

 Ascorbic acid is  

 (A) a vitamin    (B) an enzyme 

 (C) a protein    (D) an amino acid 

62- fuEufyf[kr esa dkSu lsy ds vkuqokaf’kd pfj= dks n’kkZrk gS \ 

 (A) RNA     (B) DNA 
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 (C) izksVhu     (D) gkekssZUl 

Which of the following is responsible for the heredity character of 

cell? 

 (A) RNA     (B) DNA 

 (C) Protein     (D) Harmones 

63- lkcqu gS & 

 (A) dkcksZgkbMªsV    (B) bZFkj 

 (C) olk vEyksa ds yo.k   (D) buesa ls dksbZ ugha 

 Soaps are 

 (A) Carbohydrates   (B) Ethers 

 (C) Salts of fatty acids   (D) None of these 

64- fuEufyf[kr esa dkSu izkd`frd cgqyd gS \ 

 (A) izksVhu     (B) ikWfyFkhu 

 (C) C;wuk&,l     (D) csdsykbV 

 Which of the following is a natural polymer ? 

 (A) Protein     (B) Polythene 

 (C) Buna-S     (D) Bakelite 

65- lgcgqyd dk mnkgj.k gS & 

 (A) uk;ykWu&6      

(B) uk;ykWu&6] 6 
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 (C) ikWyh esfFky esfFky ,Øk;ysV¼ PMMA½   

(D) ikWfyFkhu 

 An example of copolymer is  

 (A) Nylon-6       

(B) Nylon-6, 6 

 (C) Poly methyl methyl acrylate (PMMA)  

(D) Polythene 

66- la?kuu cgqyhdj.k dk mRikn gS 

 (A) ikWfyFkhu     (B) ih0 oh0 lh0  

 (C) Vs¶ykWu     (D) uk;ykWu&6] 6 

 A product of condensation polymer is  

 (A) Polythene    (B) PVC 

 (C) Teflon     (D) Nylon-6, 6 

67- fuEufyf[kr esa fdldk mi;ksx ,saVhik;jsfVd ds :Ik esa gksrk gS \ 

 (A) ikjkflVkekWy    (B) DyksjksDohu 

 (C) Dyksj,eQsuhdkWy   (D) LSD 

 Which of the following is used as an antipyretic ? 

 (A) Paracetamol    (B) Chloroquine 

 (C) Chloramphenicol   (D) LSD 

68- VkW;QkbM ds bZykt ds fy, fdl ,saVhck;ksfVd dk mi;ksx gksrk gS & 
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 (A) isaUlhyhu     (B) Dyksj,eQsfudkWy 

 (C) VsVªkekblhu    (D) lYQkMkbZthu 

 An antibiotic used for the treatment of typhoid is  

 (A) Pencillin    (B) Chloramphenicol 

 (C) Tetramycin    (D) Sulphadiazine 

69- Hkksiky gknls esa tks fc"kSyh xSl fudyh Fkh] og gS & 

 (A) N2     (B) CH3NCO 

 (C) CH3CN     (D) CO2 

 The poisonous gas evolved in Bhopal tragedy is - 

 (A) N2     (B) CH3NCO 

 (C) CH3CN     (D) CO2 

70- xseSDlhu gS & 

 (A) Dyksjkscsathu    (B) Mh- Mh- Vh- 

 (C) csathu gsDlkDyksjkbM   (D) buesa ls dksbZ ugha 

 Gammexane is  

 (A) Chlorobenzene   (B) DDT 

 (C) Benzene hexachloride  (D) None of these 

 [k.M&c @ Section-B 

y?kq mÙkjh; iz’u @ Short Answer Type Questions. 

iz'u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd ds fy, 2 vad 

fu/kkZfjr gS%          10x2=20 
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Question Nos 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.      10x2=20 

1- /kkrqbZ Bksl d;k gS \ nks mnkgj.k nsaA      2 

What are metallic solids ? Give two examples. 

2- Ýsadsy nks"k D;k gS \ mnkgj.k ds lkFk O;k[;k djsaA    2 

What are Frankel defects ? Explain with examples. 

3- Leijklkjh ?kksy fdls dgrs gSa \      2 

What are isotonic solutions ? 

4- foy;u ds vla[; xq.k/keZ D;k gS \ mnkjg.k nsaA    2 

What are colligative properties of a solution ? Give examples. 

5- pkydRo ,oa eksyj pkydRo dh ifjHkk"kk djsaA    2 

Define conductance and molar conductance. 

6- QSjkMs ds fo|qr&foPNsnu laca/kh izFke fu;e dks fy[ksaA   2 

Write Faraday’s first law of electrolysis. 

7- ,atkbe mRizsjd D;k gS \       2 

What are enzyme catalysts ? 

8- ì"BlfØ; dkjd D;k gS \       2 

What are surfactants ? 

9- rk¡ck ds nks v;Ldksa ds uke ,oa lw= fy[ksaA     2 

Write names and formulae of two ores of copper. 
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10- [kfut ,ao v;Ld esa vUrj Li"V djsaA     2 

Differentiate between ores and minerals. 

11-  Dyksjhu dh bysDVªkWu ca/kqrk ¶yksjhu ls vf/kd gksrh gSA D;ksa \  2 

Electron affinity of chlorine is greater than that of Fluorine. Why ? 

12- gSykstu rRo izcy vkWDlhdkjd gksrs gSaA D;ksa \    2 

Halogen elements are strong oxidizing agents. Why ? 

13- baVjgSykstu ls vki D;k le>rs gSa \ nks mnkgj.k nsaA   2 

What do you understand by interhalogens ? Give two examples. 

14- XeF2 dh lajpuk dk mYys[k djsaA      2 

Discuss the structure of XeF2. 

15- f&CykWd ds rRo D;k gSa \ mUgsa ;g uke D;ksa fn;k x;k gS \  2 

What are f-block elements ? Why are they called so ? 

16- Cu(I) izfrpqacdh; gS tcfd Cu(II) vuqpqcadh; gSA O;k[;k djsaA  2 

Cu(I) is diamagnetic where as Cu(II) is paramagnetic. Explain. 

17- fuEufyf[kr ds IUPAC uke fy[ksaA      2 

(i) [CO(NH3)5Cl]Cl2   (ii) K3[Cr(C2O4)3] 

Write IUPAC names of the following 

(i) [CO(NH3)5Cl]Cl2   (ii) K3[Cr(C2O4)3] 

18- Vhapj vk;ksMhu  ds fofHkUu vo;o D;k gS \     2 

What are different constituents of tincture iodine? 
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19- bykLVksej D;k gS \ izkd`frd bykLVksej dk ,d mnkgj.k nsaA  2 

What are elastomer ? Give one example of natural elastomer. 

20- dkcksZgkbMªsV dh ifjHkk"kk crk,aA       2 

Define carbohydrates. 

nh?kZ mÙkjh; iz’u @ Long Answer Type Questions. 

iz'u la[;k 21 ls 26 nh?kZ mÙkjh; gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd ds fy, 5 vad 

fu/kkZfjr gSA          3x5=15 

Question Nos 21 to 26 are Long Answer Type. Answer any 3 questions. 

Each question carries 5 marks.      3x5=15 

21- fuEufyf[kr ;kSfxdksa ds lajpukRed lw= fy[ksaA   1x5=5 

(A) 2&,sehuks,FksukWy    (B) Vf’kZ;jh C;wfVy ,sehu 

(C) N- ,fFky,Fksukekbu   (D) N, N – MkbesfFkyesFksukehu 

(E) N- ,fFkylkbDyksiSuVsukehu 

Write structural formula of following compounds 

(A) 2-Aminoethanol     

(B) Tertiary butylamine 

(C) N-Ethyl ethanamine    

(D) N, N Dimethyl methanamine 

(E) N-Ethylcyclopentanamine 
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22- fuEufyf[kr ij laf{kIr fVIi.kh fy[ksaA     2x2
ଵ

ଶ
= 5 

 (A) HVZ vfHkfØ;k    (B) gkWQeku czkse,sekbM vfHkfØ;k 

Write short notes on the following. 

(A) HVZ reaction     

(B) Hoffmann Bromamide reaction 

23- D;k gksrk gS tc         2x2
ଵ

ଶ
= 5 

(i) QkWeZfyYMgkbM veksfu;k ls vfHkfØ;k djrk gS \ 

(ii) dSyfl;e QkesZV dks dSyfl;e ,slhVsV ds lkFk xeZ fd;k tkrk gS \ 

What happens when 

(i) Formaldehyde reacts with ammonia ?  

(ii) Calcium formate is heated with calcium acetate ? 

24- fuEufyf[kr ifjorZu dSls yk;saxs \     2x2
ଵ

ଶ
= 5 

(i) ,slhfVyhu ls ,fFky ,sYdksgkWy  

(ii) ,fFky ,sYdksgkWy ls Mkb,fFky bZFkj 

How would you bring about the following conversions ? 

(i) Acetylene to ethyl alcohol 

(ii) Ethyl alcohol to diethyl ether 

25- IUPAC iz.kkyh ds vuqlkj fuEufyf[kr ds lw= fy[ksaA  1x5=5 

(i) gsDlk,sehu IySfVue (IV) DyksjkbM     
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(ii) VsVªczksehMksD;qizsV (II) vk;u 

(iii) lksfM;e Mkblk;uhMksvksjsV (I) 

(iv) iksVSf’k;e VsVªkgkbMªksDlksftadsV (II) 

(v) iksVSf’k;e Mkblk;uksvktsZVsaV (I) 

Write formula of the following as per IUPAC system. 

(i) Hexaamineplatinum (IV) chloride 

(ii) Tetrabromidocuprate (II) ion 

(iii) Sodium dicynidoaurate (I) 

(iv) Potassium tetrahyrxozincate (II) 

(v) Potassium dicyanoargentate (I) 

26- (i) izFke dksfV dh vfHkfØ;k ls vki D;k le>rs gSa\ nks mnkgj.k nsaA     2 

(ii) izFke dksfV dh vfHkfØ;k ds osx fLFkjkad ds fy, O;atd izkIr djsaA     3 

(i) What do you mean by first order reaction ? Give two examples. 

(ii) Obtain an expression for rate constant of a first order reaction. 


